FRBBCATI7>I— b (REEWR) &R #H

1:X<HBTEFFES3 (Z3ED)
2 EESNEVNREHBTEES (EBE5NEVRIEEDIED)
3 EBESNEVNIEHTE>ESRKRL (EBS5MNENZIEZTSEDRN)
4 FOELBTIFESRL (Fo22<ZESENDRW)
H23 | H24 | H25 | H26 | H27 | H28 | H29
1 30%|  33%| 46%| 45%| 42u|  44%| 42%
A1 AEERTIEHE BR (3S-BEFR) TG >1=H 2 53%|  62%| 49%| 52%| 51%| 52%| 53%
BEENTEODNATOSERBNVET A, 3 7% 5% 4% 3% 5% 3% 4%
4 1% 1% 0% 0% 1% 1% 1%
1 51%| 46%| 58%| 63% 56% 53% 51%
. et 4 i b e s 9 % 9 1% 9 % Y
M2 iR pRaEERoThsERLET A, [ | Tk A ST S S 42 AR
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e ) 2 39%|  40%| 27%| 29%| 32%| 33%| 35%
B4 |ARICAZSETEM2=TThH, 3 5% % 5% 6% = % 6%
4 3% 1% 1% 1% 2% 2% 2%
1 1% 11%]  1e6%]  17%]  12%]  15%]  10%
FS5 SEICETERGBAR - LIHREHHEANTY 2 65%| 58%| 62%| 62%| 61% 59%| 62%
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